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QUESTION 1

A user entity is in a one-to-many relationship with a Book entity. In other words, a developer reach the collection of
books that a user instance myUser has by using the path expression-"myuser - books". 

A developer wants to write a Java Persistence query that returns all users that have only two books. 

Which two are valid queries that return this information? (Choose two.) 

A. SELECT u FROM User U WHERE SIZE (u.books) = 2 

B. SELECT u FROM User WHERE COUNT (u.books) = 2 

C. SELECT u FROM User u (WHERE COUNT (b) FROM u.books b) = 2 

D. SELECT u FROM user u WHERE (SELECT SIZE (b) FROM u.books b) = 2 

Correct Answer: AC 

 

QUESTION 2

A stateless session bean\\'s business method invokes EJBContext.setRollBackOnly and receives an
IllegalStateException. 

Under which of these conditions could this be possible? 

A. The business method is marked with the MANDATORY transaction attribute. 

B. The business method is marked with the NONSUPPORTED transaction attribute. 

C. This Is NOT possible; a stateless session bean cannot invoke EJBContext.SetRollBackOnly. 

D. The bean has no metadata (in annotations 01 deployment descriptor) which specifies the transaction attribute for the
method. 

Correct Answer: B 

 

 

QUESTION 3

An application has two entities, parson and Address. 
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The application calls the DeletePersonsByStatus named query. Which of the following is true? 

A. The person entities are removed, but NOT their related address entities. 

B. The person entities, and all their related address entities, are removed. 

C. The DeletePersonsByStatus named query is ill-formed, and will be rejected by the persistence provider. 

D. The named query will fall. 

Correct Answer: B 

 

 

QUESTION 4

Which of the following Criteria query snippets demonstrates the correct way to create and execute strongly typed
queries? Assume that cb references an instance of the CriteriaBuilder interface and em references an EntityManager
instance. 

A. CriteriaQuery cq = cb.createQuery (Office.class); . . . TypedQuery tq = em.ceateQuery (cq) ; L 1st offices =
tq.getResultList (); 

B. CriteriaQuery cq = cb.createQuery (Office.class) . . . TypedQuery tq = em.createQuery (cq, office.class); List offices =
tq.getresult (); 

C. CriteriaQuery cq = em.createQuery (cq, office.class); . . . TypedQuery tq = em.createQuery (cq); List offices =
tq.getresult (); 

D. CriteriaQuery cq = cb.createQuery (Office.class); . . . TypedQuery tq = em.ceateQuery (cq); List Offices =
tq.getResultList (); 

Correct Answer: D 

Reference:http://stackoverflow.com/questions/3424696/jpa-criteria-api-how-to-add-join-clause-as- general-sentence-as-
possible 

 

QUESTION 5
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A developer wants to write a type-safe Criteria API query. Which two of the following statements true about Criteria
query roots? (Choose two) 

A. The query MUST define a query root. 

B. The query MUST define a query root only if it navigates to related entities. 

C. The query MUST NOT define multiple query roots. 

D. The query may define multiple query roots. 

Correct Answer: BC 

Reference:http://docs.jboss.org/hibernate/orm/4.0/hem/en-US/html/querycriteria.html 

http://stackoverflow.com/questions/3424696/jpa-criteria-api-how-to-add-join-clause-as-general- sentence-as-possible 
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